Logarithims

Question 1 Solve the folowing exponential equations:

() 3%+l. gy b)
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Question 2 ‘Write each of the following in lo garithmicgf;;-u
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(a) 64 =2° : (by 100 =102
(@) 3=2%" (e) 5=10°
Question 3 Evaluate the following:

(a) logyl6 . (b) logy 81
(d) logg 27 (e) logyy 125
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logy 625

log, 32




'Question 4

(a) logyd2 =«

(d) log, 125 =3

1
{g) logy 8 = r

Question 5
(a) log\;10 25 + logy, 4

(d) logy 32+ 10§4 2

Solve theE&:TlléﬂvT‘ﬁ!g i’:;r the variable:

(b) log, 27 =3

() log 64=y

(e) log, 6% =2

() log,8=3

th) loggam=7

@) 1og3l g=2
2

Evaluate the following:

(b) logy 1000 — logy 8

() logg 12+ logy -3

(e)

logyy 300 — logy, 12

(f) 2logg 2+ 2log, 3

_El;eétian 6  Solve tflé,-”following

(a) logg x = logy 7 + logg 2

equations for x:

{(b)

(¢} log, x+log, b = log, (x+1)

(d)

(e) logy x+logy(x+4) =5

()

log, x = 2log, 3 - 3log, 2

2logg x = log; 49

]0g12 2z + 10g12 (x*" 1) =1




Question 7 Solve the following exponential equations correct to 4 decimal places:

(a) 3°=7

(b) 5 =15

(C) 2x+1 - 9

(d) %= Gx—l

(e) 6:54—2:: 103:—7

(f) 3x+ 1 — 5::** 1

34 Logarithms (avswaes )
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1 (a) x=% h) 3::% () x=-2 ;
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@ 2=} ®x=0 () x=l |

2 (a) log, 64 = 6 ®) logy100=2 |

(¢) logs 125 = 3 (@) logg3 == !

- (@) logyb=x (f) logy 15 =« |
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(e) 1 #) 2
6 (@) x=14 () x=% @ z=1
(d) x=7 ey x=4 ) x=3

7 () 17712 &) 16826 (c) 21699
(d) 2-5850 (e) 3856882 (f) 53013



